Questions on

Basics of Percentage

Concept Lecture - 2




What will be[80% of a number whose
i [200%)is 902 ~ F

Th A&AT &I 80% FAT grem  fryger
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If 11 % of a number exceeds 7% of the

same byy_}, the number is
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Two numbers are less than a third number by
30% and 37% respectively. How much per cent is
the second number less than the first?

. A §EaT Al gEGr @ FAM: 30% IR 37%

FH 5l g T Jorem A @ wEAr fraen

gfaerd &7 82
a)7%  b)9.09% ) 11.11% \_g/m%
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If 55% of the population of a city is_male and the
number of females is 1350, the number of males is
gfy P eeT #r 55% mm%aﬁt
Hﬁmaﬁaermwso%a’rm e §

’5 @; a) 1570 b) 1450 ::)51550 \,d‘(1650
;f:} 100-55 = U5/ — 1250 %,5/
352 1= 127 45"

561 63¢ ~lese
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If 75% of the students in a school are boys
and the number of girls is 420, the number

of boys is asvy.

g TFa H 75% v asF § AR
asfral Y FEAT 420 §, ar d=H 6
e 4T

a)1176  b) 1350 \,e'{1260 d) 1125




When 40% of a number is added the
result is the number itself. The number is

9 WEAT FT 40% 42 # ST 1w 8, ar
oRUTA g §&aT g gl T

a) 82 b) 105 70 d) 72
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Ain €25y of A

If 80% of A =50% of B and B = x% of A4,

then the value of x is
IJfE A T 80% = B HT 50% 3 B=

AT x%, dY x FT AT &
A s 31 Qg Hon B a)400 b) 300 \,aﬁﬁo d) 150
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If 30% of A is added to 40% of B, the
answer is 80% of B. What percent of A is B?
IfE AFT 30% B &F 40% H ST AT §,
aY SHET 3T B &1 80% &1 A &1 frder

yfaera B &2
a) 30% b) 40% c) 70% «{75%
Wov &= 20v. A

=25,
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The difference of two numbers is 45% of their
sum. The ratio of the larger number to the
smaller number is

&l AT HT AT 3oTah AT FHT 45% gl
T AT @ O TEAT FT IHqUTd F4T §
a)20:9 b) 9:20 \/92‘;:11 d)11:29
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Two candidates fought an election. One got
65% of the votes and won by 300 votes. The
total number of votes polled is

al 3FHAIGaR gad a3| TH F 65% dIT
a3k 300 aﬁz#sﬂmlmﬁw

T aQrel f Fel qE&ar
a) 600 b) 800 \/(1000 d) 1200

1000




If p% of p is 36, then p is equal to:

Ife p T p% 368, d¥ p F W &
a) 3600 b) 600 60 d) 15
F wp=26
(od
=> P= 3600
‘23 P = 60




A student got 23% marks and failed by
28 marks, another student got 35 % marks
and passed by 20 marks. Find the sum of
numer'cgl values of maximum marks,
passing marks and passing percentage.

TH OIF & 23% IH e 3T 28
¥ IWFA TET, @Y OF H 35% 3IHH
e 3k 20 3 & 9 @ T A
I®waw e, vl P 3R
3ot yfaeraar & wrear®« AT &

T FATST|
a) 480 b) 520
c) 530 550
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A student got 240 marks in a test and he
failed by 6% point, another student got
320 marks and passed by 4% points. Find
the sum of numerical values of mailmum
marks, passing marks and passing
percentage. 2% 8 36 1.
TH BHF H TH SFC A 240 3% @A
I a|§ 6% IF ¥ JABA g,
BF F 320 3% A 3 4% 3F @
9 g T @ 3feaw e, 3divily
3t 3R Idoita gfaeraar & areaf@s
HTAT FT 9T A5

a) 1128 b) 1088

c) 1227 ||y d) 1092
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Meena scores 40% in an examination and after
review, even though her score is increased by 50%,
she fails by arks. If her post-review score is
increased by('zig;/ﬁshe will have 7 marks more than
the passing score. The percentage score needed for
passing the examination is.

AT v qliem A 40% TR FICr § AR geaw
& a1, el & 3P THR 50% «¢ AT ¢, T6

35 37l & el g AT §| I 3T SuT-THET
THIT 20% ol &, a 3HHT 99 3eof 3iF & 7

V53 it gty haT st at > v ST

kS — o, yamaia;%

70 b) 80 c)75 d) 60
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By what percentage |{he percentage of the

number of vowels)in the word C NSQNANT
less than the percentage of consonants)in it?
CONSONANT 2Te & TE&IT &1

gfaerd, sEd <goe Y g&ar F yfaerd

¥ fraa gfaera && g7
(33.33 b)
) 66.67 50
Ql-Q, ":lol“\
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25% of (50% of 30% of 150) .

is equal to :

40% of 2250

25% of (50% of 30% of 150) ECAC K %_ .

40% of 2250

0.625% b) 0.225% c) 0.25% d) 0.825%
) l, 2 ,IC® ]
—X =x2=2% -
4" 27 T Ui
2
< xl22%o0
g
Oxlp= 625+
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In an examination, 100 questions are divided
among two sections such that the first section
contains 50% more questions than the second
section. If each question of the first section carries
2 marks and each question of the second section
carries 5 Marks, Find the total marks of the test?

frdY ofieT # 100 WA 3 HEN H W G
¢ W § O uEd HET A qEY HET &
50% 3% U @] Tg ST & X AT 2
3 F g YT U HET & & WA 5 3P
FT 8, TN&T HY FT HF TAA?

a) 260 320 c) 480 d) 500




75% of the employees of a company ABC
Ltd. are males. 33.33% of male employees
and 20% of female employees earn more
than Rs.20000 per month. What Fraction of
employees of ABC Ltd., earn not more than
Rs.20000 per month?

fRdlt ®Fuel ABC LTD & 75% AR
oY 8| 33.33% oW FHAAN AR 20%
AR FHAN 20,000 WA AT &
STATET FATE ¥ @ gaT FA N ABC LTD
& HAART T fhaar BEar 20,000 vfe
ATE W HHA HATT &7

SN A

4
d)

NSw




30% of the students of a class are girls. In a
test, 40% of the girls and 30% of the boys
failed. What is the ratio of passed students to
failed students?

et Fam F Fo oET A 30% TBFAT B
F g H, 40% WERHAT T 30% wdSH
IAH @ AT § A G BHEl T FAH
ST T AT AT FI?

a)33:67 b) 3:7 c)7:3

d)3:1 \,e')/None




75% of the employees of a company are male.
30% of the male employees and 40% of the
female employees are married. What fraction of
the employees of that company is unmarried?
Pl ®uslt & 75% HHATIN I g 30%
Y FAAR T 40% HARAT FAGN [aared
& T FT frae fewar sfdafea 8

1 27 7 13
a) 20 0 c) 20 d) 20 e) None

| | 21



4.0% of the employees of a company are male. 20% of
the male employees are temporary. 74% of total
employees are permanent. What percentage of female
employees of that company is permanent?

frelt Fuelt & 40% FHAA TIY B 20% THW
FHAN A ¥ FT FAARN FT 74% TAE Y
AT O FT fhder QHH‘%?ITHW-'IWF’TI?%?
a) 60 b) 68 70 d) 72 e) None

| | 22
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40% of the employees of a company are permanent.
60% of the employees earn more than Rs. 25000 per
month. If 40% of permanent employees earn more than
Rs.25000 per month, What percentage of temporary
employees earn more than Rs. 25000 per month?

frelY Yt F 40% FHAR TAE 8] 60% FHIAN
Rs 25,000 9fd #E ¥ 3®WF AT B 3N
40% TIE HFAARY 25000 — 9fqd &g @ 3®F
HATT § ar fraer gfdeaa s swmy 25000 —
ufa AT @ SIAET FAS 272
\j{73.33

44 b)60 )70 e) 76.66
Uxigp = 72 |
(S 5?5




In a class, 60% of the students are girls and
the rest are boys. 45% of the girls pass an
examination and 40% of the boys failed. If
the number of girls who failed is 66, the
number of boys who passed the
examination is:

frdY wam &, 60% o @sfRAT § 3k
Ay o= §| fREY qdiam F 45% asfear
3ot gt & 3iix 40% osd 3ol @
& R el @ areh wERRAT A
HEAT 66 % a’r qdiam & <ol @ ae
CECIRCD AT Y

a) 36 48 c) 54 d) 60

| SSC CHSL 2020 | 24
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gth part of the population in a village are

males. If 30% of the males are married, the
percentage of unmarried females in the
total population is.

T Ta F e F ar e gow
IfE 30% IIW ﬁmé?r% ("n'ib_(«l'
SAuEaT & IfAaRd ARt @

yfaera 2
a)20§ \.4273 c)27§ d)29§

77
Vi

| CDS 2017, PAPER 1 15



In a party only couples are invited.

yo 50 %l! If ‘44%% of invi@oeople are
\/ nv vegetarian and 60 males are
non-vegetarian, then find the
(‘4_5_ ™m 97 number of fathers, if 20% of males
have children. (it is given that 920

women are non-vegetarian)

4 _f 90 frdt gt A Faa RaRa =
9 am'q'r T 3 afy g v am'l’r #
M5XU0y) - % AFTERY % qqT 60% TIW
= =360 g a9 tnﬁ wﬁu?r ﬁFlTEHT
_/3 a?r m afe 20% gvw ar

92

\;}ﬂ?ﬂ ¥ 920 ARER AEE B)
360 b) 270

c) 315 d) 450

e 10



Due to COVID 19, many employees started
working from home. In an organization office,
yesterday, 13% male and 20% female employee
were absent. Today 8% female and 31% male
employee are absent but the number of male and
female present today are equal. If Total number of
employees present yesterday 3528. Then find the
total number of employee in the organization?

FRET F FRU, F& FHIN B W TR
FH F 3 TH HAST & FRATET
A, &, 13% TIY 3T 20% ARAT FAA
FrafRefy 4] 3k amer 8% ARem 3R 31%
WY FAAR Uity 7, dfFw s
saftyd afder 3R qew wHaREl A de
TR 3| IR Fa Foea A Fa 3URYA
FHARAT FEAT 3528 afra’rmmﬁm

FATMET Y AT HI
a) 4900 4200
¢) 5600 d) 8400

| GP |7
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In an examination the percentage of students
qualified to the number of students appeared
from school A is 70 %. In school B the number
of student appeared is 20% more than the
students appeared from school A and the
number of students qualified from school B is
50% more than the students qualified from
school A. What is the percentage of students
qualified to the number of students appeared
from school B?

UF Gl A T A F FA SEI A &
et ot # e 70% ¢ Tk B O,
ma?rmmAa;ma?rm#
ZO%mav%mmBa?mma?r
AT THAT A & 3T oEl i gear 7
509 30+ ¥ THe B A IO @ amr
mﬁmmB a»-aa—orzm’rm

fRra=T ufdera &2 \t/
a) 30% b) 70% 87.5%d) 78.5%

| | 28
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In a constituency, 55% of the total number
of voters are males and the rest are females.
If 40% of the males are _illiterate and

40% of the females ar then by

what percentage is the number of illiterate
females more than that of the illiterate
males (correct to one decimal place)?

wﬁaﬁaﬁ#mm&ﬁ##
55% 9%¥ 3R Y AT ¥ IR
40%tmr sfxfaa aur 40% AT
e § ar T Aot 1 e
fAfAT gy A1 gEar ¥ g gfaea
(GUHT F UF TI aF T8 30w ¥
a) 20.8% b) 16.4%

SY22.7% d)11.5

| SSC CHSL 2020 | 23



@and B spend 60% and 75% of their
incomes, respectively. If the savings of A are

(éj‘, ‘/_‘)J = A B)Oes 20% more than that of B, then by what
— percentage is the income of A less than the

A 3 ~ income of B?
o _ 51 A 3R B U AT FT FAA 60% 3R
oY 75% W Fd ¢ | I A # T9q, B #

qqd A Jol H 20% HAF T, @ 4 #;
T B #T 3T A Fhaa Ifaerd & &7
a)15 b)20 )10 _gf25

| SSC CGL 2019, Tier-1 | 30
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If decreasing 180 by x% gives the same result
as increasing 60 by x%, then x% of 410 will be
more than (x + 20)% of 210 (correct to two
decimal places):

Iy 180 F x% Hr FHA F& 9T 3T 60 H
x% T FEftr HIA W FAE IROMA gred
AT &, ar 410 # a%, 210 F (x +
20)% & fraem e gl (geasred & ar
T o Han)?

a) 36.57% b) 37.57%

)31.67%  ~4139.46%

31
| SSC CHSL 2020 |



If decreasing 110 by x% gives the same

@0"'707' 50= Qo'o-x);l lo result as increasing 50 by x%, then x% of
650 is what percentage more than

oot _ 11 Ax +20)% of 1802 (correct nearest integer)
0% T 3 I 110 F X% FA I W Ad
25 ? qRomdA, 50 & X% delt W uIed
.Le»a-_/pegz=:’1 qRomT & WA & @ 650 &I

X £3 O X% 180 ¥ (x+20)% ¥ fhaw wfaera
s g 2 (Reheds QUi a)
207.-U1.Y  |ag \z)/136% b)90% ) 154%  d)80%
-1e @ §x6515m L35 )
v2% s —
S/ €90 ¢ 1w

| SSCCPO, 23 NOV 2021, S1 | 32
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If (x+20)%of 250 is 25%
more than x% of 220, then
10% of (x + 50) is what
percent less than 15% of ;%?oo
gfe 250 &1 (x +20)%, 220
& x% & 25% 3t g
(x +50) &HT 10%, x & 15%

&1 fhda gfaera gen?
a) 13%% b)8§%

1 1
\;1/165% d) 33-%

| SSC CGL 2019 T- 2 | 33



f30% of (x —y) =20% of (x +y), then
what percent of x is y?

I (x—y)FT 30% = (x + y) FT 20%
g, ar x &1 gfaera y 2

a) 25 20 c)30 d) 500
= _ 'Z-kz
R
5 X

-
— -

¢

| | 34



(x% of y + y% of x) is not equal to:

(Y& x% + x&T y%) AT A &
ﬁmﬁ:waﬁ%’?

a) x% of 2y b) ~ %of4xy
c)2%of xy j;cy% of 3

7(37.%9\

35



a_ Q-
[00 5X20
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5%)f a = b, then b% o£ 20 is the same

I3 /(@0
a & 5% =hbar 20 & b% ............ *
AT B9 |

)(w%ofg W 50%of 4
W(50% of 2 \,dq/zeﬁ/qg_sofz‘;o

] @ %
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2% of a = b, then b% of the 1f'is the same as:

oo Sv
e ey 200 = b, L0 W b%
AT gHIT |

)4290% of a
ﬁ%%/of

) Z—O%/Of 100
5Q200‘Vélof -

37
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Ifa% of b + b%ofa = 10% of (a + b) then

the{sum of reciprocals of a and b §is:

AT b FT a% + a&T b% = (a+b) P 10%
gt a a 3T b & IREINET &1 Fer FAT T2

a)1 b): A d) -

| | 38
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If a% of x is equal to b% of y, then ¢% of y is
what % of x?

R x FT a% = yFI b% AV y FT c%,x &
forasr ufdera & AT ghem?

a) ¢% va%% =% d) abc%

| | 39



mL_IL n&_ Amn
o6 _jew AT
’_—") m?_‘f'nz—- Amn=0

=) -n Y=o

:) W—n —_.-D

If m% of m + n% of n = 2% of (m X n),

then what percentage of m is n?
IfE m% & m+n% n = 2% (m x n) &1

g, A m &1 fhae ufderd ng?
a) 50% b) 75%
100% d) Cannot be determined

| CDS 2014, PAPER 2 lo



If x% of y is 150 and y% of z is 300, then the

| relation between x a§d§‘|; %
afg x & y% 150 z & y%300%, a
Zyyy/;M x 3T z FT GO %

a)z =x b)z=x/3 c)z=x/2 Z=2x




/wf( 2uo =C

= 17-6
X 9ARUnN9 /
2% 9€¢ 2
Quxhze = €
\68 :&\4’(7—— C
_To
Q3 ¢

If a% of 240 is ¢ and ¢% of a is 117.6, then
the value of a + cis:

Iy 240 HF a%c & 3R a &
c%,117.6 %, A a + ¢ T AT AT HAT|

238 b) 144 c) 260 d) 196

A xr- 6%
(0f

A=10




78.5% of 644 + 36% of 785 — x = 21 X 29, Find x.
a)172 b) 143 c) 151 176

s of 795 362 47852 = 609

78S
—6s 9

/76
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A and B are two fixed points 5¢m apart and C
is a point on AB such that AC is 3cm. If the
length of AC is increased by 6%, the length of
CB is decreased by.

A 3R B @ faftaa g 5 d srewr @
3R ¢, AB W = ¢ afe Ac=3
A IR AC Y FFEE 6% ¢ A T,
ar CB #Y IFaIE HA 8 ATTA?

a) 6% b) 7% c) 8% \}V@%




207 X = 8y

129
-ZU . A
/(4’5"/. —439000

139 — 5800

Ankit was to get a 29% hike in his salary but due to
typing error, this figure was wrongly typed as 57%
and the new salary slip was printed. He received this
revised salary for 3 months and the organization
realized the mistake. The excess paid to him in the
previous months was deducted from his fourth
month’s salary. If after deduction he gets Rs 9000 as
fourth month’s salary then find his actual current
salary?

IfFT F 39S daT F 29% A TGN Gred @
o, AfpeT eI T & FRUT a9 F T Tg
HTHET 57% BT @ AT AR A9 da4 AT a4
I FISA B AeAcl FT TEEH g & Tgok 38 3
A & AT I FNRAa daa e Rod adar &
39 fear s srfafea daar 3a& i adar & aaa
q FET A I Fed F I 39 9 TS F
ddd F T A 9000 T fAad & A 3a
arEdafd® JaA ddd AT HfAA?

a) Rs. 28700 b)Rs 25400

¢) Rs 21400 \dRs. 25800

| GP |5
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A person who has a certain amount with him goes
to market. He can buy 50 oranges or 40 mangoes
with it. He retains 10% of the amount for taxi
fares and buys 24 mangoes. Of the remaining
amount, he purchased oranges. Find the number
of oranges that he bought.

T gied oad 9w e ARga v §, a8
9IS STaT 8] 98 39 6T 50 Ta% AT 40
WA @WiE Fhar g a8 ¢l e & Qv
10% MY I@ar g 3 24 39 @dear g
AV TR, & F, 38 TR TG 30 ST TR
T{Ie| 3HT TE&AT AT |

a)12 b) 18 cY15 d) 20

e 10
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Due to some crisis. Some people from state A
migrated to state B, and thereby the population of
the second state increased by 19.96%. However, at
a later stage, all of them returned to state A. Then
by what percentage (correct up to two decimal
places) did the population of state B decrease?

FG HHE & HRUT| AT A ¥ F& T TsT B
# 99 a1, 3R 3W e g Uod N F@E
A 19.96% 1 I g§I gTolfh, a1& A I w3
T IS A # O oite 3wl & TST B A
STHEAT # fhae gfaera i AT e'é (GerHea

I€.6¢, & a1g &Y Tu= dF TEAT W)?

a) 19.96 16.64
c) 18.24 d) 17.54

|SSC MTS, 5 Oct 2021, S1 |7
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